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enmutlplt muputut2pguthtullth ulbtntuQuttt pnftgh tnttopbttfi 2024 Sattutltuttth oqnumnuft /3-h ph4

136 - U hputtftuhltg:

'\fi tfn p 4tt bp lt tt p ry hg 2 tt 4ru b fu n t fu u lt tt :

ttnutghnp41bp[ ubutfuttutQuttr tfuuttutqftmutQtutt(tuphbutnutqnptuQtutt) h tfhghtt [utuhuqlrmuQutt

QpptuQuttt 1ptaqpbp /tputQutttutgttnq ntunuftttuQuttt htuutnutnntsapftttthplr 2tt4nftth1nqa1utt Qupq,-nq k

<< qqUU tuutfuutptup/t 2024 Sa(utQuttth hn4/tu/r 2a-h fah4 5B-L hputtfuttn(' h/ttftttuQuttt QpSanryayutt

(QtulutQutt/t qtuuhtuuutQuttttthp/t tfhghtt Sa(utptutttu|tuttlr, 0913'02.5-.PnqputQuth qnft'
[utubutqfinnryayth hutlutp nQhhutuputhntplnth, utnupQut/t pttttnqayttr h (hpnhlt21tu1

futuhutqftmnqayutt hutlutp pttrTniltblnqayuh tfpgnryauqlttt unupSutttbplr qttuhutnuQuttttthpft/

ttlrut(nptthp/t ptt4hutttntp tunut/hlutgntlh qru[utp nthhgnq hbppnhft4tul 4ftttnp4ttbp/ttt ph4niltb1 Qntnu4plt

tn u p ut 6 ut2 pp tu tt ut1 lt tr tq b n ut Q ut tt p n I bg tu tt t/6 tu p n ru n ry tfut tlp.

l. llttnnfuutr Lnrufttth Upttbttft-63,36 tf/tu(np

2. tlutpquluth 4up4nth/t eu1ft8n1f- 6/,67 tf/tu(np

3. Uutqtupltuh Llnqutttttut Qu[n1ft- 60,92 tfftu(np

4. Uutpqupluttt Qnq/thmut q*Fhfih -58,33tfiltu(np

5. 4tup4utt4tuh flnryuttttu Unqb4f-57,9/ {tu(np

6. tftuprnfipnquttt Oyut Uq(uttlr-56,54 ttltu(np

7. tu utl u mp1 uth tfup/t u tt 1n (hu tttthufi-SL, 58 tt/t u (np



P U 14 U U+

Qntnu4p/t tnutputttu2pguttttu/ttt tqbtnuQuttt pnlbgh mhopbtt/t 2024 ya{uQuttth oqnunnult tS-h fah{
137 - U hputtuthfrg:

'I/r [n p 4tt hp lt h p rybg p b 4n fit fu n t tfut ult tt :

Unughnp44fun{ *buluttutQuttt [utuhtuqftmuQutr(tuphbuuuqnptutQtutt) lt ,Ihg/rt [ututuuqftmuQutt

QpputQuttt tputqpbp /tputQtuttutgttn7 nrunufhutQuttt huunutmnqapilttthp/t ptt4nftthpryaptt l1tup4,-n/ lt
<< qqUU ttutluutptup/t 2024 p(tu|tutth hnqfiu/t 2+-1, fah4 58-l' hput[utttn(' hfttttutQuttt QpTanqayttt
(QutlutQuth/t qttuthutmtuQuttttbp/t tlhght Sa(uptuttutQtuhh, 0913.02.5-*PnqpuQuttt qnpt,
tftuuhuqftnnryapttt huttfutp nQbhuutputhnryapth, unutpQutl/r pttbnryalutt L t/hpnhft4ut1

tftuuttuqftnntpluttt htutfutp ptt4niltQnryayth tfpgnryary/rtt utnupQutttbp/t qfuuhtutnuQutttthplt/
f/tu(nptthp/t ptt4hutttnry qnufutpn( [pgnypfttt tfututtutQgutt lt fpgnryyan{ uttgutt ttbppnh/ryu1

4f[np4tthp/ttt ptt4niltb1 Qnmrypft mutputttu2pputttutllttt ulbmuQuttt pnlhg t/6upn{ft ntunryfuttfp.

l. Sntqntfuuttt L/t1/tut aupbtt/t- 55,2 {tuttnp

2. Uutpqfiulutb blbttut Upubtt/t- 54,39 tf/tu(np

3. Unryu41utb Ulltutu Uttnt2ut/tutth- 53,88 fitut(np

4. bqftuquputh Uppnth/t Uptfbttlt- 50,87 t^f/tu(np

5. lupntsaptttltutt L/t1/t Upryn[ft- 50,8 [/tut(np

6. Umbfiuttluttr Ulbtt Upryn{t-50,44 tf/rut(np

7. hhquQ uttt tl1ntqu b tttu P utqp u mfi-48, 44 tlltu (np

B. fln([utuluttt UtrqQfitrtu Uufi/h1lt- 48,42 tI/tu(np

9. bpuhnulutt L,upb Ury/tuft -46,33t[fttu{np

/0. Pu44uutupluttt Uttfi Uttpumfi- 46,12 tffu(np

ll. lwpnqa.lnrtqutt Untuuttthu 4nnfi- 45,27 tt/ru(np

12. bbqfiputpltutt. UnttltQtu U7fuittft- 43,88 tI/tu(np

13. bttqfipupluttt Ututtb Uq(utrlt- 40,88 tffut/np
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Qnmrypf tnuptutut2pguthtu/ttt ulbtnuQuth pnlbgh nttophhlt 2024 ya(u|utt/t oqnutnnuft 13-h fah{
l3B - U hpu[uth/tg:

}/t tfn p 4tt bp lt h p ry hg p tt 4n t h h1 n t tftu u /t tt :

Unugbnp44htn4 *but/uhutQuth [uuhuq/rnuQuth(utphbutnutqnpttuQtutt) lt ,fhghtt tlututtutqftnuQuttt

QpSauSuttt hpuqphp ltputQuttttugttn4 ntunufhtuStutt huumumnqapiltttbp/t ptr4nfttblnqayttt Qupq,-n( L
<< U9UU ttutluutptuplt 202a SafutQuttth hnqhufi 24-ft plr( 58-L hptutttuttnt/' h/ttfhutQtutt
(QtulutQtuttlt qbuhuntulltuttttbp/t tlhghtt Sat/utptuttutUuttrh, 0916.0/.5-*lh4utqnptntsapth,
tfututtuqltmnryaprtt huttftup uQhhuutptuhnqapilt, utnutpQutl/t ptthnqayth h (hpnhftgutl
tfutuhuqltmnryayutt huttfup ptt4nfitfunqayttt tfpgnqaryfih unutp|uthhp/t qtruthutnutQtuttttbpfr/
[/tu{npttbp/t ptt4hutttnry unu{hluqnqh qnrtftup ntubgnq ttbppnhftryutl aftttnp4ttbp/th ph4niltb1 Qnnu4p/t
tn u p ut t ut2 pg ut h tu1 lt h u1 b tn tu Q tu tt p n I h2 ut tt ( 6 ut p n t u n ry tfu tlp.

l. 1n(huttttt/tultutt 2utpruhft UhtuQft -66,12 tIfiut(np

2. U4uttffipluth tlbtt 4tuhuttrh -61,62 tf/tut{np

3. Fu4utguth tllttttu Autpbtt/t -60,04[ftu(np

4. Qn u n utt41 ut h Uuplttutf I' npqpft- 56, 12 Qr u (np

5. lltunluth dtutttrut $/tp4ntu/t- 55,2 tf/tu(np

6. Uutpqutpltutt Lnru/rttb dtupbtr/r- 52,68 ttftu(np

7. 1 n t/ h ut h b u1 ut tt P tt ut p lt Q ot b m p n ufi -4 8, 33 tf/t u {n p



P U 14 U UL

Qntnulplr unutputtut2pgutttutl/rtt ttlbmtuQtutt pnftgh mttopbhlt 2024 Satlu|uthh oqnunnuft l3-h fah{
139 - U hpu[tuttftg:

}ft tIn p 4tt hp lt h p ryhg p h 4n th Q n t [ut u /t tt :

gnutgttnp44fun{ *butluttutQuttt ttututtutqftmutQtutt(utphhutnuqnptutStutt) h tthphtr fuuttutgltnuSuttt

QpsauSuttt tpuqpbp ltputQtuttutghn4 nrunufttutSutt hututnumnryapilthbplr ptt4niltbpryalutt Qupq,-nq h

<< qqUU ttutfutuptup/t 2024 Sa(ut|uttth hn4ftu/t 2l-h fah4 58-l' hptutfuttrn(' hfttttttuQtub Qppnryayth

(QutlutQutttfr qtttuhtutnutQtuttttbplt tthght, p(utptuttut|tutth, 0916.0/.5-*lh4uqnptnqaptu,

tftuuhutq/ttnnryayth huttfiup nQhttutuptutrnqapilt, unupQutllt pttttnqayth h (bpnhlr4utl

tfutufutuqltnnryapttt huttttup ptt4nilthlnqayutt tIpgnryaryfttt unupQuthbplt qhuhutnuQutrtthplt,t

tf/tu(npttbp/t ptt4htutrnry qnufiupn( tlpgnrypfttt tlututtutQgtut h [pgnqpn( uttgtut ttbppnhft21tu1

4lttlnp7tthplrtt ptt4nthbl Qntnutlp/t mtuptutut2pgtuhutllrtt ulbnutQtutt pnlbg (6utpn(f nrunrytIuttfp.

/. tlpqutpluttt lllltutu Upttbttlr-47,33 [ftu(np

2. U1(uqlutt Uttuthfttn I'npuqpft- 44,54 {tut(np

3. lutulumpluttt Lnrufthb Uptutt/t- 40,54 tfltu(np

4. Uupnftpnultutt 1lttuttut SnryfQ/r- 38,38 tI/tu(np

llr tfp' p h 4n ilt n 4 h ut hd tt udn 4n (/t

huQtuQutttlt hbn 6lt2n f'



P U 14 U AP

Qnnryplt nuputtut2pgtuhtulfttt ulbtnutStutt pnlbgh nttophttfi 2024 7a(u|tutth oqnumnuft U-h frh4
140 - U hputtfuttltg:

'|ft ttnp 4tt hp/t h p n 1 bg p b 4n ilt b1 n t tlut u lt tr :

Unugttnp44fun{ .I'utluhutQuttt tftuutrutq/rnuQuttt(utphbumutqnptutQtutt) h tfhghtt tlutufutuqltrnutlluttt

QpyauQuttt tputqphp /tputQuttttugttnq ntunufttutSuttt hututnuttnntsapftthbp/t pttrynthblntpluttt Qtupg,-n{ It
<< qqUU htu/uutputpft 2024 p(ut|tutth hnq/tu/r 2n-ft fah4 SB-L hputtfuthn(' h/ttftttuQuttt Qpsanrsapth
(QtulutSuttt/t ghuthumuQuthttbp/t tfftghb 7a(uputtrtu|uttth, 0911.01.5-<llnutfhutnh/uh/tQtuQuttr gnlt6,
[uuttuqftnnryayth hutftup uQbhutuptuhnryapth, tunutpQutl/t ptttrnqapttt It (bpnh/tgut1
tfutuhuqfinnqayutt huttftup ptt4niltQntTapttt tfpgnryau4lrh utnupQuttthp/r qttuthutmutQtutttthp/r/
[fut/nptthp/r ph4huttrup utnu(fuuqnrytt qnuhup nthhgn4 tthppnh/t21ut1 4/ttlnp4ttbplttt ptt4nfuQ Qnmu4p/t
n u p ut tut2pg ut tt tu/t h u1 h tn u Q ut h p n I bg tu tt t/6 ut p n t u n ry [ut t[p.

l. 'Iuquguth L/ttu I'nprypf- 71,32 tf/tu(np

2. U/ultyaupl ut h Up tu tf Uf u ut Qlt- 59, 44 tflt u (n p

3. $tulutnluth 4nhZ* Upubtt/t -55,92 tfltu(np

4. U t/ ut h b u1 ut tt Up u h tt Up u t[/r -52, 74 tfft ut ( np

5. Uulutttltutt Uptutftul/tu Upttbttfi- 50,17 tf/tu(np

6. luQnpluttt Ontpbh U2nmft-46,44 tf/tu(np



P U 14 U UL

Qnnu4p/t mtuptuttu2pgtuhtul/ttt ulbnutQuth pnlbgh mhophtt/r 2024 Sa(ultuthh oqnunnuft ll-h ph4
l4l - U hputtluttrltg:

}fi fn p qtt bp /t tt p ry bg p h 4n t h' Q n t tlut u lt tt :

Untugttnp74htn4 .Lut/ubutQutt tftuuhuqfttnuSuttt(tuphbutntuqnphutStutt) It [hght, tfutubuqfttnuQutt

QpputStutt tputqpbp /tputQtutttughnq nrunufhutQuttt huunumnryapfitttbplt ptt7nfuhpqalutt Qutpg,-n{ It

<< qqUU tutu/uutputp/t 2024 p(ru|uttth hnqfiulr 24-h fafi4 58-b hputttuthn(' hlttfttutQuttt QpTanqayutr

t{QutlutQtuttlt qtttuhuturtuQuttttthp/r tfhghtt 7at/utputtttuUuthh, 0911.01.5-nUututfhunblutt/rQutQutfu qnpt,
tttuuttutqltutnqayth htutlutp uQbhuutputhnryapth, utnupQtullt pbhnryaytb h tlhpnhf2ltu1

tfutuhutqltmnryayuh htutftup ph4nthhpqapth ttpgnqauqlttt unutpQtuhhplt qhuhunuQuttttthplt,t

fftuttlnpbbplt ptt4huthnry qnufiupnt/ tfpgnuplttt tftuubutQgtut h tlpgnqsan( uthgutt ttbppnhftVtul

4/ttfnp4ttbplttt ptt4nilth1 Qnntqplr mutptuttu2pgtuhut/ttt t4bmutQuth pnlb7 (6upntl/t ruunry[utfp.

l.'|ptuttluttr UutI(b1 Ubpqqfi -44,69 tffttu{np

2. II t/ ut tt b u1 ut tt I' ut p b P utg/t Q ft -a 0, 92 {t u { n p

3. Put4utlutltt 4tuhb U2ntnf-40,73 tfftut/np

4. Untpu4luttt btupbQ flQtfuttf-38,8 tt/rtu{np

5. 4u4n1uttt 1n(huth Uupquft -36 {tu(np

6. Qupqupluttt lut(ft7a Uput[/t-35,48 tfltut/np 
r

7. ltupnryaptttluttt flut/tuu ahqbtlh-35,24 tI/tu(np

1ft [p' p tt4n ilt n 4 h ut hd tt udn4n {/t

huQutQuttt/t hhn 6lt2n f


